AN
S M 2 £ FE
N X Xr = e
SH2%6A118~ 128 8% = B4 :dB
VAN E:JE] §1E,E,“
BRI %) N-1 N-2 N-3 N-4 N-5
TiHESE 60 59 59 56 60
8:00~20:00 :
FRER#E 60
TiHESE 54 49 48 54 50
20:00~23:00 :
FRERE 55
TiHEBE 45 43 45 50 46
23:00~6:00 :
FRER#E 50
TiHEBE 51 49 47 52 55
6:00~8:00 :
FRER#E 55
$H246A11A~128 8% = 8 R & B dB
VAN E:JE] §1E,E,“
BRI %) N-1 N-2 N-3 N-4 N-5
Ti5IRED 40 35 35 37 <30
8:00~20:00 :
FRER#E 65
Ti5IRED <30 <30 33 35 <30
20:00~8:00 :
FRER#E 60




AN —
=S M ot F E
— R:I= X ﬁ = A -
$HTE6R13E~14BE B 5 i & B dB
VAN E:JE] §1E,E,“
F ) N=1 N-2 N-3 N-4 N-5
TiHESE 57 57 60 53 60
8:00~20:00 :
FRER#E 60
TiHESE 49 50 47 47 47
20:00~23:00 :
FRERE 55
TiHEBE 40 43 45 46 48
23:00~6:00 :
FRER#E 50
TiHEBE 53 48 44 48 51
6:00~8:00 :
FRER#E 55
SHTECA13A~14B 8% = 8 R & B dB
VAN E:JE] §1E,E,“
F RS N=1 N-2 N-3 N-4 N-5
TiHiIREN 43 32 38 33 <30
8:00~20:00 :
FRER#E 65
Ti5IRED 32 <30 36 32 <30
20:00~8:00 :
FRER#E 60




IR 30 & E
30568140 ~15AH%E B g A & B dB
i N-1 N-2 N-3 N-4 N-5
TiHESE 60 54 57 49 58
8:00~20:00
FRER#E 60
TiHESE 47 49 43 47 50
20:00~23:00
FRERE 55
TiHEBE 40 42 42 45 45
23:00~6:00
FRER#E 50
TGS 48 46 42 44 48
6:00~8:00
FRER#E 55
30568140 ~15AH%E = 8 R & B dB
i N-1 N-2 N-3 N-4 N-5
TIHIREN 33 39 37 40 48
8:00~20:00
FRER#E 65
Ti5IRED 32 31 35 34 46
20:00~8:00
FRER#E 60




Rk 2 9 & E

20568130 ~140 A% B & if g dB
VAN mn
Bl 53 N-1 N-2 N-3 N-4 N-5
TiHESE 56 55 55 55 52
8:00~20:00 :
FRER#E 60
TiHESE 47 47 45 44 50
20:00~23:00 :
FRER#E 55
IHRE 39 44 44 44 49
23:00~6:00 :
FRER#E 50
TiHESE 47 48 45 43 51
6:00~8:00 :
FRER#E 55
2046130 ~14A A% = 8 fH & Bifi7 4B
e
N\
FfE 5 N=1 N-2 N-3 N-4 N-5
TiHHRED 35 32 34 38 42
8:00~20:00 :
HRHIE A 65
TiHRS <30 <30 <30 38 40
20:00~8:00 :
HRHIE A 60




